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INSTRUCTIONS TO CANDIDATES
Read the following instructions carefully before you answer the questions.

1.  Answers are to be bubbled only on the separate  carbonless Answer sheet 
provided to you. After examination detach the carbonless copy from original 
Answer sheet & keep carbonless copy with you till the declaration of result.

2.  Please write your Center Code & Seat No. very clearly (only one digit in one 
block) on question paper. Before writing your seat no. ascertain it with Hall 
ticket. Please see that no block is left blank or unfilled.

 Example :

CENTRE CODE 1 1 0 2

SEAT NO. M 3 3 9 2 3 1 1 0 2 1 2 3

3. Please ensure that you have received Scholastic Aptitude Test answer sheet.

4.  Total number of questions are 90 for this paper. All questions carry one mark each.

5. All questions are compulsory.

6.  For each question there are four options given in question paper. Check for the 
correct answer and bubble correct option from four circles given in answer sheet 
by Black/Blue pen. Please do not write any answers on question paper.

7. Start answering from first question one after another till the last question.

8.  If you do not know the answer of any question, do not spend much time on it and 
pass on to the next one. If time permits, you can come back to the questions which 
you have left in the first instance and try them again.

9.  Utilize the allotted time for solving the questions in best possible way. The rough 
work is to be done in the box given under each page.

10.  Do not write anything except Center Code, Seat No. and rough work anywhere in 
this booklet
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narjmWvgmR>r gyMZm

àíZm§Mr CÎmao XoÊ¶mnydu nwT>rb gyMZm H$miOrnyd©H$ dmMm.

1.  CÎmao Zm|X{dÊ¶mgmR>r ñdV§Ì H$m~©Zbog CÎman{ÌH$m XoÊ¶mV Ambobr Amho. Ë¶mdaM Amnbr CÎmao 
Zm|XdmdrV. narjoMr doi g§në¶mZ§Va hr H$m~©Zbog àV ‘yi CÎman{ÌHo$nmgyZ doJir H$ê$Z narjoÀ¶m 
{ZH$mbmn¶ªV ñdV:H$S>o OVZ H$ê$Z R>odmdr.

2.  Vw‘Mm H|$Ð g§Ho$Vm§H$ Am{U AmgZ H«$‘m§H$ àíZn{ÌHo$À¶m ‘wIn¥ð>mda {Xboë¶m {d{hV {R>H$mUr 
gwñnï>nUo {bhmdm. (EH$m Mm¡H$Q>rV EH$M A§H$ ¶mà‘mUo) ñdV:Mm AmgZ H«$‘m§H$ {b{hÊ¶mnydu 
àdoenÌmZwgma Vmo ~amo~a Agë¶mMr ImÌr H$ê$Z ¿¶mdr. H$moUVmhr aH$mZm [a³V amhUma Zmhr ¶mMr 
XjVm ¿¶mdr.

 CXmhaUmW© :

CENTRE CODE  H|$Ð g§Ho$Vm§H$ 1 1 0 2

SEAT NO.  AmgZ H«$‘m§H$ M 3 3 9 2 3 1 1 0 2 1 2 3

3.  Vwåhmbm CÎmao Zm|X{dÊ¶mgmR>r embo¶ j‘Vm MmMUr (Scholastic Aptitude Test) MrM CÎman{ÌH$m 
{‘imbr Amho ¶mMr ImÌr H$amdr.

4.  gXa {df¶mgmR>r 90 àíZ AmhoV. àË¶oH$ àíZmbm EH$ JwU Amho.

5. gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

6.  àË¶oH$ àíZmÀ¶m CÎmamgmR>r àíZnwpñVHo$‘Ü¶o Mma n¶m©¶ {Xbo AmhoV. Ë¶mn¡H$s Vwåhmbm ¶mo½¶ dmQ>ob 
Ë¶m n¶m©¶mMm H«$‘m§H$ nhm d Ë¶m H«$‘m§H$mMo dVw©i H$mù¶m qH$dm {Zù¶m ~m°bnoZZo a§JdyZ CÎma 
Zm|Xdm. ‘mÌ ho H$m‘ Vw‘À¶m CÎman{ÌHo$da ¶mo½¶ àíZmnwT>o H$amd¶mMo Amho àíZnwpñVHo$da Zmhr.

7. n{hë¶m àíZmnmgyZ gwédmV H$ê$Z EH$m‘mJyZ EH$ àíZ gmoS>drV eodQ>n¶ªV àíZ gmoS>dmdoV.

8.  EImÚm àíZmMo CÎma ¶oV Zgob Va Ë¶mda OmñV doi Kmbdy ZH$m. nwT>Mo àíZ gmoS>{dÊ¶mg ¿¶m. 
gd© àíZ gmoS>dyZ Pmë¶mda Caboë¶m doimV amhÿZ Joboë¶m àíZm§da Vwåhmbm nwÝhm {dMma H$aVm 
¶oB©b.

9.  àíZ gmoS>{dÊ¶mgmR>r Vwåhmbm {‘iUmam doi {dMmamV KoD$Z Ë¶mMm OmñVrV OmñV Mm§Jë¶màH$mao 
Cn¶moJ H$am. H$ÀMo H$m‘ àíZn{ÌHo$darb àË¶oH$ n¥ð>mda {Xboë¶m [aH$må¶m Mm¡H$Q>rVM H$amdo.

10. ¶m àíZnwpñVHo$V H|$Ð g§Ho$Vm§H$, AmgZ H«$‘m§H$ d H$ÀMo H$m‘ ¶mIoarO AÝ¶ H$mhrhr {bhÿ ZH$m.
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Space for Rough Work

001. In case of birth of stars, arrange the given statements in a proper order and select the correct 
option from given alternatives.

(A) Due to generation of nuclear energy the gas sphere becomes self luminous.

(B) Due to fusion of atomic nuclei nuclear energy generation starts.

(C) Due to disturbance cloud start contracting.

(D)  Density of interstellar cloud starts increasing and its temperature also starts to increase 
and a dense sphere of hot gas is formed.

(1) C, D, B, A   (2) D, C, A, B

(3) B, D, C, A   (4) A, C, D, B

002. As shown in the figure given below, an explosion occurs at point ‘O’. Considering sound of 
explosion choose the correct option from given alternatives.

AIR

WATER

(Diver)

(1) A and B both hear the sound at same time.

(2) A hears the sound earlier than B.

(3) A hears the sound later than B.

(4) B does not hear the sound at all.

003. From the given alternatives choose the wrong statement in regards to electric current.

(1) Electrons flow from positive potential to negative potential.

(2) Conventional flow of electric current is from positive potential to negative potential.

(3) Electrons flow from negative potential to positive potential.

(4) 1Amp = 1S
1C
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

001. Vmè¶m§À¶m {Z{‘©Vr g§X^m©V Imbrb n¶m©¶m§Mm gw¶mo½¶ H«$‘ Agboë¶m CÎmamMm n¶m©¶ {ZdS>m.

(A) AUwD$Om© {Z{‘©VrZo Jmob ñd¶§àH$m{eV hmoVmo.

(B) AUwH|$ÐH$mÀ¶m ¶wVrZo AUwD$Om© {Z{‘©Vr gwê$ hmoVo.

(C) {djmo^m‘wio Am§VaVma{H$¶ ‘oK Am§Hw${MV hmoVmV.

(D) Am§VaVma{H$¶ ‘oKm§Mr KZVm dmT>ë¶mZo Ë¶m§Mo Vmn‘mZhr dmT>Vo d EH$ VßV dm¶y§Mm Jmob V¶ma hmoVmo.

(1) C, D, B, A   (2) D, C, A, B

(3) B, D, C, A   (4) A, C, D, B

002. Imbrb {MÌmà‘mUo "O' ¶m {R>H$mUr KSy>Z Amboë¶m ñ’$moQ>m§Mm ÜdZr g§X^m©V {Xboë¶m n¶m©¶mVyZ AMyH$ n¶m©¶ 
{ZdS>m.

hdm

nmUr
(nmU~wS>çm)

(1) A d B Xmohm|Zm EH$mM doir ÜdZr EoHy$ ¶oB©b.

(2) A ¶m ì¶³Vrbm ÜdZr B À¶m VwbZoZo AJmoXa EoHy$ ¶oVmo.

(3) A ¶m ì¶³Vrbm ÜdZr B À¶m VwbZoZo Ceram EoHy$ ¶oVmo.

(4) B ¶m ì¶³Vrbm ÜdZr EoHy$ ¶oV Zmhr.

003. {dÚwVYmaoer {ZJS>rV Imbrbn¡H$s MyH$sMm n¶m©¶ {ZdS>m.

(1) Bbo³Q´>m°ÝgMo dhZ YZ {d^dmH$Sy>Z F$U {d^dmH$S>o hmoVo.

(2) {dÚwVYmaoMr g§Ho$V ‘mÝ¶ {Xem YZ {d^dmH$Sy>Z F$U {d^dmH$S>o Amho.

(3) Bbo³Q´>m°ÝgMo dhZ F$U {d^dmH$Sy>Z YZ {d^dmH$S>o hmoVo.

(4) 1 Amp = 1S
1C
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004. Match the given terms in column A with definitions / formulae given in column B and select 
the correct option from given alternatives.

Column A Column B (Definitions / Formulae)

(i) Degree Celsius a] Total kinetic energy of the atoms in a substance

(ii) Degree Fahrenheit b] 9
5 (F-32)

(iii) Heat c] C + 273.15

(iv) Temperature d] Average kinetic energy of the atoms in a substance

(1) (i) - d      (ii) - b      (iii) - c      (iv) - a

(2) (i) - b      (ii) - c      (iii) - a      (iv) - d

(3) (i) - c      (ii) - d      (iii) - b      (iv) - a

(4) (i) - a      (ii) - a      (iii) - d      (iv) - c

005. Given table contains physical quantities with their MKS and CGS units. Observe them, match 
them and choose the correct alternative.

Physical quantity MKS system of units CGS system of units

(i) Speed a] Kilogram / Meter cube p] Gram / Meter cube

(ii) Area b] Meter cube q] Centimetre / Second

(iii) Volume c] Meter / Second r] Centimetre square

(iv) Density d] Meter square s] Centimetre cube

(1) i - b - p      ii - c - q      iii - c - r      iv - b - s

(2) i - c - q      ii - d - r      iii - b - s      iv - a - p

(3) i - a - r      ii - a - s      iii - a - p      iv - c - q

(4) i - d - s      ii - b - p      iii - b - q      iv - d - r
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

004. A ñV§^mVrb ametMm "B' ¶m ñV§^mVrb ì¶m»¶m/gyÌm§er ¶mo½¶ OmoS²>¶m Owidm d {Xboë¶m n¶m©¶mVyZ AMwH$ 

CÎmam§Mm n¶m©¶ {ZdS>m.

"A' ñV§^ (amer) "B' ñV§^ (ì¶m»¶m/gyÌ)

(i) A§e goëgrAg a] nXmWm©Vrb JVrO D$O}Mo EHy$U à‘mU

(ii) A§e Ho$ëdrZ b] 9
5 (F-32)

(iii) CîUVm c] C + 273.15

(iv) Vmn‘mZ d] nXmWm©Vrb AUy§À¶m JVrO D$O}Mo gamgar à‘mU

(1) (i) - d      (ii) - b      (iii) - c      (iv) - a

(2) (i) - b      (ii) - c      (iii) - a      (iv) - d

(3) (i) - c      (ii) - d      (iii) - b      (iv) - a

(4) (i) - b      (ii) - a      (iii) - d      (iv) - c

005. Imbrb V³Ë¶mVrb ^m¡{VH$ ametMr MKS d CGS nÕVrVrb EH$H$m§Mo {ZarjU H$am. Ë¶m§À¶m ¶mo½¶ OmoS²>¶m 

OwidyZ AMyH$ n¶m©¶ {ZdS>m.

amer MKS nÕVrVrb EH$H$ CGS nÕVrVrb EH$H$

(i) doJ a] {H$bmoJ«°‘ / KZ ‘rQ>a p] J«°‘ / KZ g|Q>r‘rQ>a

(ii) joÌ’$i b] KZ ‘rQ>a q] g|Q>r‘rQ>a / goH§$X

(iii) AmH$ma‘mZ c] ‘rQ>a / goH§$X r] Mm¡ag g|Q>r‘rQ>a

(iv) KZVm d] Mm¡ag ‘rQ>a s] KZ g|Q>r‘rQ>a

(1) i - b - p ii - c - q iii - c - r iv - b - s

(2) i - c - q ii - d - r iii - b - s iv - a - p

(3) i - a - r  ii - a - s iii - a - p iv - c - q

(4) i - d - s ii - b - p iii - b - q iv - d - r
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006. Work of scientists mentioned in Column A is given in Column B. Identify the relation between 

scientists and their work and choose the corrective alternative from those given below.

Column (A) Scientist Column (B) Work

(i) Thales a] Magnetic lines of force.

(ii) Thomas Browne b] Showed that lightening is form of electric charge.

(iii) Benjamin Franklin c] Coined the term electricity.

(iv) Michael Faraday d]
Found feathers attracted to yellow coloured amber 
rubbed on woollen fabric.

(1) (i) - c      (ii) - d      (iii) - a      (iv) - b

(2) (i) - a      (ii) - b      (iii) - d      (iv) - c

(3) (i) - b      (ii) - a      (iii) - c      (iv) - b

(4) (i) - d      (ii) - c      (iii) - b      (iv) - a

007. Observe the following figure and choose the correct option related to wavelength.

(1) l (BE)    (2) l (CE)

(3) l (DG)   (4) l (EI)
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

006. ñV§^ "A' ‘Yrb emñÌkm§Mo H$m¶© ñV§^ "B' ‘Ü¶o Xe©{dbo Amho. emñÌkm§Mm Ë¶m§À¶m H$m¶m©er Agbobm g§~§Y 

AmoiIm d {Xboë¶m n¶m©¶mVyZ ¶mo½¶ n¶m©¶ {ZdS>m.

emñÌk (ñV§^ A) H$m¶© (ñV§^ B)

(i) Woëg a] Mw§~H$s¶ ~baofm

(ii) Wm°‘g ~«mCZ b] drO åhUOo {dÚwV à^mamMo ê$n Amho ho ñnï> Ho$bo.

(iii) ~|Om{‘Z ’«o>>±$H${bZ c] Bbop³Q´>grQ>r ho Zm‘H$aU Ho$bo.

(iv) ‘m¶Ho$b ’°$a°S>o d]
"bmoH$arZo Kmgboë¶m {ndù¶m a§JmÀ¶m amioÀ¶m Xm§S>çmH$S>o 
{ngo AmH${f©bo OmVmV' ho XmI{dbo.

(1) (i) - c      (ii) - d      (iii) - a      (iv) - b

(2) (i) - a      (ii) - b      (iii) - d      (iv) - c

(3) (i) - b      (ii) - a      (iii) - c      (iv) - b

(4) (i) - d      (ii) - c      (iii) - b      (iv) - a

007. Imbrb AmH¥$VrMo {ZarjU H$éZ Va§Jbm§~r {df¶rMm ¶mo½¶ n¶m©¶ {ZdS>m.

(1) l (BE)    (2) l (CE)

(3) l (DG)   (4) l (EI)
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008. Observe column ‘A’ and column ‘B’ and select the correct option of answers.

Column ‘A’ Column ‘B’

P] Human Larynx A] Vibrations of metal arms

Q] Loud speaker B] Vibrations in vocal cords

R] Jal-Tarang C] Vibrations of screen

S] Tuning fork D] Vibrations in air column

(1) P - C      Q - B      R - A      S - D

(2) P - D      Q - A      R - C      S - B

(3) P - A      Q - D      R - B      S - C

(4) P - B      Q - C      R - D      S - A

009. If more than one force are acting on a body, then the effect on the body is ________.

(1) Due to net force   (2) Zero

(3) Negative   (4) Positive

010. Find the correct statement / equation regarding irregular reflection.

(1) Laws of reflection are not followed in irregular reflection.

(2) Angle of incident is not equal to angle of reflection.

(3) i = r
1
 ≠ r

2
 ≠ r

3
 = ________.

(4) Irregular reflection takes place at smooth surface.

011. Find false statement related to Kaleidoscope.

(1) Three mirrors are used in triangular shape.

(2) Each mirror is fitted with other mirror in 45°.

(3) Innumerable images of the glass pieces are formed.

(4) It is used to find various designs.
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

008. Imbrb ñV§^ 'A' d ñV§^ 'B' Mo {ZarjU H$am Am{U ¶mo½¶ CÎmam§Mm n¶m©¶ {ZdS>m.

ñV§^ ‘A’ ñV§^ ‘B’

P] ‘mZdr ñda¶§Ì A] YmVyÀ¶m ^yOm§Mr H§$nZo

Q] ÜdZrdY©H$ B] ñdaV§VyMr H§$nZo

R] ObVa§J C] nS>ÚmMr H§$nZo

S] ZmXH$mQ>m D]  hdoÀ¶m ñV§^mVrb H§$nZo

(1) P - C      Q - B      R - A      S - D

(2) P - D      Q - A      R - C      S - B

(3) P - A      Q - D      R - B      S - C

(4) P - B      Q - C      R - D      S - A

009. EImÚm dñVyda EH$mnojm A{YH$ ~bo à¶w³V AgVrb Va Ë¶m dñVyda hmoUmam n[aUm‘ hm ________ AgVmo. 

(1) à¶w³V {Zìdi ~bm‘wio  (2) eyÝ¶

(3) F$U    (4) YZ

010. A{Z¶{‘V namdV©Zmg§~§YrMo AMwH$ {dYmZ / g‘rH$aU {ZdS>m.

(1) A{Z¶{‘V namdV©ZmV namdV©ZmMo {Z¶‘ nmibo OmV ZmhrV.

(2) AmnVZ H$moZmMo ‘mn namdV©Z H$moZm BVHo$ ZgVo

(3) i = r
1
 ≠ r

2
 ≠ r

3
 = ________.

(4) A{Z¶{‘V namdV©Z JwiJwirV n¥ð>^mJmdê$Z hmoVo.

011. H°${bS>moñH$mon {df¶rMo Imbrb n¡H$s MwH$sMo {dYmZ AmoiIm.

(1) VrZ Amago {ÌH$moUr ñdénmV AgVmV.

(2) àË¶oH$ Amagm Xþgè¶m Amaemer 45° g§b½Z AgVmo.

(3) H$mMoÀ¶m VwH$S²>¶m§À¶m Ag§»¶ à{V‘m V¶ma hmoVmV.

(4) ¶mMm Cn¶moJ doJdoJi¶m aMZm emoYÊ¶mgmR>r H$aVmV.
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012. Amongst the following which element is not used as controller to reduce the number of neutrons 

in the nuclear reactor?

(1) Beryllium   (2) Graphite

(3) Cadmium   (4) Boron

013. Important molecules in a mixture of air are?

(1) N
2
 , O

2
 , Ar , H

2
O , CO

2
 (2) N

2
 , O

2
 , Ar , H

2
O , CO

(3) N
2
 , O

2
 , H

2
 , H

2
O , CO

2
 (4) N

2
 , O

2
 , CO , H

2
O , CO

2

014. Which is the correct statement from the following?

(1) Potassium is not a soft metal.

(2) Lead metal is a good conductor of electricity.

(3) Non-metal Boron has a high melting point.

(4) Density of Lithium is more than water.

015. Which is the incorrect pair for air pollutant and its effects?

(1) Pesticides - Mental weakness (2) Particular matter - Irritation of eyes

(3) Dust - Silicosis   (4) Sulphur dioxide - Cough, Breath

016. Which is the correct pair from the following?

(1) Na
2
CO

3
 - Neutral  (2) CaO - Acidic

(3) KCl - Neutral   (4) SO
2
 - Alkaline

017. Write the products A and B respectively in the following word chemical equation?

A + Sodiumbicarbonate  Carbondioxide + B

(1) Lactic Acid , Sodium Citrate (2) Citric Acid , Sodium Citrate

(3) Sodium Citrate , Lactic Acid (4) Sodium Citrate , Citric Acid
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H$ÀÀ¶m H$m‘mgmR>r ’$³V

012. nwT>rbn¡H$s H$moUVm KQ>H$ AUw^Q²>Q>r‘Ü¶o Ý¶wQ´>m°ZMr g§»¶m H$‘r H$aÊ¶mgmR>r {Z¶§ÌH$ åhUwZ dmnabm OmV Zmhr?

(1) ~o[a{bA‘   (2) J«°’$mB©Q>

(3) H°$S>{‘A‘   (4) ~moam°Z

013. hdm øm {‘lUmVrb à‘wI KQ>H$ aoUy H$moUVo?

(1) N
2
 , O

2
 , Ar , H

2
O , CO

2
 (2) N

2
 , O

2
 , Ar , H

2
O , CO

(3) N
2
 , O

2
 , H

2
 , H

2
O , CO

2
 (4) N

2
 , O

2
 , CO , H

2
O , CO

2

014. nwT>rbn¡H$s gË¶ {dYmZ H$moUVo?

(1) nmoQ>°{eA‘ hm ‘D$ YmVy Zmhr. (2) {ego hm YmVy {dXçwV gwdmhH$ Amho.

(3) ~moam°Z ¶m AYmVwMm ÐdUm§H$ Cƒ Amho. (4) {b{WA‘Mr (Li) KZVm nmÊ¶mnojm OmñV Amho.

015. hdm àXÿfHo$ d n[aUm‘ ¶m~m~V A¶mo½¶ OmoS>r H$moUVr?

(1) H$sS>ZmeHo$ - ‘ZmoXm¡~©ë¶  (2) hdoV {‘gibobo H$Uén nXmW© - S>moù¶m§Mm Xmh

(3) Yyi - {g{bH$m°{gg ì¶mYr (4) gë’$a S>m¶Am°³gmBS> - ImoH$bm, X‘ bmJUo

016. nwT>rbn¡H$s AMyH$ OmoS>r H$moUVr?

(1) Na
2
CO

3
 - CXmgrZ   (2) CaO - AmåbY‘u

(3) KCl - CXmgrZ   (4) SO
2
 - AmåbmarY‘u

017. Imbrb emãXrH$ amgm¶{ZH$ g‘rH$aUmVrb A d B nXmW© AZwH«$‘o H$moUVo?

A + gmo{S>A‘ ~m¶H$m~m}ZoQ>  H$m~©Z S>m¶Am°³gmBS> + B

(1) b°p³Q>H$ Amåb, gmo{S>A‘ gm¶Q´>oQ> (2) gm¶{Q´>H$ Amåb, gmo{S>A‘ gm¶Q´>oQ>

(3) gmo{S>A‘ gm¶Q´>oQ>, b°p³Q>H$ Amåb (4) gmo{S>A‘ gm¶Q´>oQ>, gm¶{Q´>H$ Amåb
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018. Which type of plastic is used to make laboratory appliances?

(1) Polypropylene   (2) Polystyrene 

(3) Polyurethane   (4) Polyester

019. Molecular formulas of compounds are given, which is not the molecular formula from the 

given?

(1) NaH    (2) NH
3
 

(3) FeS    (4) C
2
O

4

020. Which method is used to identify and separate components of a mixture in a pharmaceutical 

science?

(1) Method of chromatography (2) Method of centrifugation

(3) Method of separation  (4) Distillation

021. Which ingredient in toothpaste removes dirt from teeth?

(1) Calcium Sulphate, Calcium, Hydrogen, Phosphate

(2) Calcium Sulphate, Fluorine, Hydrogen, Phosphate

(3) Sodium Carbonate, Calcium, Hydrogen, Phosphate

(4) Calcium Carbonate, Calcium, Hydrogen, Phosphate

022. Which metal oxide is mixed with glass to give red colour to the glass?

(1) Copper   (2) Iron

(3) Manganese   (4) Potassium
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018. à¶moJemioVrb CnH$aUo V¶ma H$aÊ¶mgmR>r nwT>rbn¡H$s ßb°pñQ>H$Mm H$moUVm àH$ma dmnaVmV?

(1) nm°bràmo{nbrZ   (2) nm°brñQ>mBarZ 

(3) nm°br¶waoWoZ   (4) nm°brBñQ>a

019. nwT>o g§¶wJm§Mr aoUwgyÌo {Xbobr AmhoV. Ë¶m§n¡H$s H$moUVo aoUwgyÌ Zmhr?

(1) NaH    (2) NH
3
 

(3) FeS    (4) C
2
O

4

020. Am¡fY{Z‘m©U emñÌm‘Ü¶o Am¡fYmVrb KQ>H$ AmoiIÊ¶mgmR>r d doJio H$aÊ¶mgmR>r H$moUË¶m nX²YVrMm Cn¶moJ 

Ho$bm OmVmo?

(1) a§OH$Ðì¶ n¥W³H$aU nX²YV (2) AnH|$Ðr nX²YV

(3) {dbJrH$aU nX²YV   (4) CÜd©nmVZ

021. Qy>WnoñQ>‘Yrb H$moUVo à‘wI KQ>H$ XmVm§darb KmU Xÿa H$aVmV?

(1) H°$pëeA‘ gë’o$Q>, H°$pëeA‘, hm¶S´>moOZ, ’$m°ñ’o$Q>

(2) H°$pëeA‘ gë’o$Q>, âbmoarZ, hm¶S´>moOZ, ’$m°ñ’o$Q>

(3) gmo{S>A‘ H$m~m}ZoQ>, H°$pëeA‘, hm¶S´>moOZ, ’$m°ñ’o$Q>

(4) H°$pëeA‘ H$m~m}ZoQ>, H°$pëeA‘, hm¶S´>moOZ, ’$m°ñ’o$Q>

022. Imbrbn¡H$s H$moUË¶m ‘ybÐì¶mMo g§¶wJ H$mMobm Jwbm~r a§JN>Q>m XoÊ¶mgmR>r Ho$bm OmVmo?

(1) Vm§~o    (2) bmoI§S> 

(3) ‘±JZrP   (4) nmoQ>°{eA‘
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023. Size of microorganisms is smaller than ________ micrometers.

(1) 10    (2) 100

(3) 1000    (4) 50

024. Find the odd pair from the following.

A B

1)  Loranthus -  Autotrophic plant

2)  Drosera -  Insectivorous plant

3)  Lichen -  Symbiotic plant

4)  Mushroom -  Saprophytic plant

025. Identify living being in Protista Kingdom.

(1) Clostridium   (2) Volvox

(3) Baker’s Yeast   (4) Vibrio

026. Identify incorrect statement from the following. 

(1) Amoeba has pseudopodia for locomotion.

(2) Euglena is a heterotrophic fungus.

(3) Tobacco Mosaic disease is caused by virus.

(4) Viruses are at the edge of living and non-living.

027. Biopsy technique is used for detection of which disease?

(1) Cancer   (2) Heart Disease 

(3) AIDS    (4) Swine Flu
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023. gyú‘Ordm§Mm AmH$ma hm ________ ‘m¶H«$mo‘rQ>a nojm bhmZ AgVmo.

(1) 10    (2) 100 

(3) 1000    (4) 50

024. Imbrb OmoS>¶m§‘Yrb {dg§JV OmoS>r AmoiIm.

A ~

1)  ~m§S>Jwi -  ñd¶§nmofr dZñnVr

2)  S´>m°goam -  {H$Q>H$^jr dZñnVr

3)  XJS>’w$b -  ghOrdr dZñnVr

4)  ^yN>Ì -  ‘¥VmonOrdr dZñnVr

025. àmo{Q>ñQ>m g¥îQ>rVrb gOrd AmoiIm.

(1) ³bmopñQ´>{S>A‘   (2) ìhm°ëìhm°³g

(3) {H$Êd    (4) ìhm¶~«rAmo

026. Imbrbn¡H$s AgË¶ {dYmZ AmoiIm.

(1) A{‘~m‘Ü¶o àMbZmgmR>r N>X²‘nmX AgVmV.

(2) ¶wp½bZm nanmofr H$dH$ Amho.

(3) V§~mIydarb ‘moPmB©H$ amoJ {dfmUy nmgyZ hmoVmo.

(4) {dfmUy gOrd {ZOudm§À¶m gr‘maofoV AmhoV.

027. H$moUË¶m  amoJmÀ¶m {ZXmZmgmR>r ~m¶ßgr V§ÌmMm dmna Ho$bm OmVmo.

(1) H$H©$amoJ   (2) õX¶amoJ 

(3) ES²>g    (4) ñdmB©Z âby
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028. Frequent urination at night, increased obesity or weight loss these are symptoms of which 

disease?

(1) Cancer   (2) AIDS

(3) Diabetes   (4) Heart Disease

029. Fire caused due to electrical components is ________ types of fire.

(1) Class B fire   (2) Class C fire

(3) Class D fire   (4) Class E fire

030. Which pigment imparts yellow colour to the parts of plants?

(1) Xanthophyll   (2) Carotene 

(3) Anthocyanin   (4) Chlorophyll

031. Find cell organelles performing specific functions.

A - Destroys viruses and bacteria that attack the cells.

B - To excrete worn out cell organelles.

C - Digestion of old or damaged cells.

(1) Golgi Complex   (2) Endoplasmic Reticulum

(3) Mitochondria   (4) Lysosomes

032. Body temperature is maintained constant by ________.

(1) Blood   (2) Lysosomes

(3) Endoplasmic Reticulum (4) Golgi Complex
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028. amÌr dma§dma ‘yÌ{dgO©Zmg Omdo bmJUo, dOZ Iyn dmT>Uo qH$dm H$‘r hmoUo H$moUË¶m amoJmMr bjUo AmhoV.

(1) H$H©$amoJ   (2) ES²>g 

(3) ‘Yw‘oh    (4) õX¶amoJ

029. Bbo³Q´>rH$b gmYZm§‘wio bmJUmar AmJ ________ Amho.

(1) ~ dJu¶ AmJ   (2) H$ dJu¶ AmJ 

(3) S> dJu¶ AmJ   (4) B dJu¶ AmJ

030. H$moUË¶m a§JÐì¶m‘wio dZñnVtÀ¶m ^mJm§Zm {ndim a§J àmßV hmoVmo?

(1) P°ÝWmo{’$b   (2) H°$amoQ>rZ 

(3) A°ÝWmogm¶{ZZ   (4) h[aVÐì¶

031. Imbrb H$m¶} H$aUmao noer A§JH$ AmoiIm.

A - noerda hëbm H$aUmè¶m {OdmUy d {dfmUy§Mm Zme H$aUo.

B - OrU© d H$‘Omoa noerA§JHo$ ~mhoa Q>mH$Uo.

C - OwÝ¶m d Iam~ noetMo nMZ H$aUo.

(1) Jm°ëJr H$m¶   (2) Am§VÐ©ì¶Om{bH$m

(3) V§VwH${UH$m   (4) b¶H$m[aH$m

032. ‘mZdr earamMo Vmn‘mZ {Z¶‘ZmMo H$m¶© H$aUmam KQ>H$ AmoiIm.

(1) a³V    (2) b¶H$m[aH$m 

(3) Am§VÐ©ì¶Om{bH$m   (4) Jm°ëJr H$m¶
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033. Identify Larynx from the following figure.

(1) A    (2) B

(3) C    (4) D

034. Where is the habitat / shelter for Asiatic lion?

(1) Ranthambore Sanctuary (2) Bharatpur Sanctuary

(3) Gir forest   (4) Kaziranga National Park

035. Identify the cells which protect human body from microbial disease.

(1) Red Blood Corpuscles  (2) White Blood Cells

(3) Plasma   (4) Platelets

036. Who became the Nawab of Bengal in 1756 AD?

(1) Siraj-ud-Daulah   (2) Mir Jafar

(3) Mir Kasim   (4) Shuja-ud-Daulah
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033. Imbrb AmH¥$Vr‘Yrb ñda¶§Ì AmoiIm.

(1) A    (2) B

(3) C    (4) D

034. Am{e¶mB© {ghm§Mo Aml¶ñWmZ Hw$R>o Amho?

(1) aUW§~moa A^¶maÊ¶   (2) ^aVnya A^¶maÊ¶

(3) JraMo O§Jb   (4) H$mPra§Jm amîQ´>r¶ CX²¶mZ

035. gyú‘Ordm§‘wio hmoUmè¶m amoJmnmgyZ ‘mZdr earamMo ajU H$aUmam KQ>H$ AmoiIm.

(1) bmo{hV a³Vnoer   (2) ídoV a³VH${UH$m

(3) a³VÐd   (4) a³VnQ²>Q>rH$m

036. B.g.1756 gmbr ~§JmbÀ¶m Zdm~nXr H$moU Ambo?

(1) {gamO CX²Xm¡bm   (2) ‘ra Om’$a 

(3) ‘ra H$mgr‘   (4) ewOm CX²Xm¡bm
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037. Who went on fast unto the death to open the doors of Vithal temple at Pandharpur for Dalits?

(1) Prof. N. G. Ranga  (2) Baba Ramchandra

(3) Shashipad Banerjee  (4) Sane Guruji

038. Identify the wrong statement :

(1) Chafekar brothers killed Rand.

(2) Vanchhi Ayyer - a revolutionary, killed a British officer named Ash.

(3) Prafulla Chaki shot dead Kingsford.

(4) Rasbihari Bose made daring act of throwing bomb on Voiceroy Lord Hardings.

039. Who said the following statement, ‘We will oppose the seperation of Mumbai from Maharashtra 

upto our last breath’.

(1) P. K. Atre   (2) Shankarrao Dev

(3) Ismat Chugtai   (4) Sulatana Johari

040. Under whose leadership, in 1857 the Bhills revolted?

(1) Umaji Naik   (2) Bhagoji Naik

(3) Babasaheb Bhave  (4) Kajar Singh

041. Identify the correct option which represents the correct chronological order of given events.

(A) Sati Prohibition Act  (B) Regulating Act

(C) Pitt’s India Act   (D) Widow Remarriage Act

Options :

(1) B, C, A, D   (2) C, A, D, B

(3) D, A, B, C   (4) B, A, C, D
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037. n§T>anyaMo {dR²>R>b ‘§{Xa X{bVm§gmR>r Iwbo H$amdo ¶mgmR>r n§T>anya ¶oWo Am‘aU CnmofU H$moUr Ho$bo?

(1) àm. EZ. Or. a§Jm   (2) ~m~m am‘M§Ð 

(3) e{enX ~°ZOu   (4) gmZo Jwê$Or

038. Imbrbn¡H$s MwH$sMo {dYmZ H$moUVo?

(1) Mm’o$H$a ~§YyZr a±S>Mm dY Ho$bm.

(2) dm§Mr Aæ¶a ¶m H«$m§VrH$maH$mZo A°e ¶m {~«{Q>e A{YH$mè¶mbm R>ma Ho$bo.

(3) à’w$ëb MmH$s ¶m§Zr qH$½O’$moS>© da Jmoir KmVbr.

(4) amg{~hmar ~mog ¶mZr ìhmBgam°¶ bm°S>© hm{S>©½Oda ~m°å~ ’o$H$bo.

039. ""‘hmamï´>mnmgyZ ‘w§~B© doJir H$am¶bm AmnU àmUnUmZo {damoY H$é.'' ho {dYmZ H$moUmMo Amho?

(1) à.Ho$. AÌo   (2) e§H$aamd Xod 

(3) Bñ‘V MwJVmB©   (4) gwbVmZm Omohmar

040. 1857 gmbr ImZXoemV H$moUmÀ¶m ZoV¥ËdmImbr {^ëbm§Zr CR>md Ho$bm?

(1) C‘mOr ZmB©H$   (2) ^mJmoOr ZmB©H$

(3) ~m~mgmho~ ^mdo   (4) H$OmaqgJ

041. Imbrb KQ>Zm H$mbmZwH«$‘o$ {bhm.

(A) gVr~§{XMm H$m¶Xm   (~) ao½¶wboqQ>J A°³Q> 

(H$) {nQ>Mm ^maV{df¶H$ H$m¶Xm (S>) {dYdm nwZ{d©dmh H$m¶Xm

n¶m©¶ …

(1) ~, H$, A Am{U S>   (2) H$, A, S> Am{U ~

(3) S>, A, ~ Am{U H$   (4) ~, A, H$ Am{U S>
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042. Identify the correct option of historical event which is related to the person (social reformer) 
shown in the picture.

(1) Establishment of Paramhans Sabha 

(2) Establishment of Brahmo Samaj

(3) Advocating gender equality through ‘Shatapatre’

(4) Establishment of Satya Shodhak Samaj

043. Leaders who lead Solapur Satyagrah and were hanged to death are given below. Identify the 
wrong name out of it :

(1) Mallappa Dhanshetti  (2) Shankar Shivdare

(3) Shrikrishna Sarda  (4) Qurban Hussain

044. Who among the following is not included in ‘Cabinet Mission’?

(1) Pethick Lawrence  (2) Stafford Cripps

(3) A. V. Alexander   (4) Lord Mountbatten

045. Identify the correct option which shows correct chronological order of Satyagrahas lead by 
Mahatma Gandhi.

(A) Kheda Satyagraha  (B) Non Cooperation Movement

(C) Dandi Yatra   (D) Champaran Satyagrah

Options :

(1) B, D, C and A   (2) D, C, A and B

(3) D, A, B and C   (4) A, D, C and B
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042. ~mOyÀ¶m {MÌm‘Ü¶o XmI{dbobr ì¶³Vr H$moUË¶m KQ>Zoer {ZJS>rV AmhoV. Ë¶mMm AMyH$ n¶m©¶ {bhm.

(1) na‘h§g g^oMr ñWmnZm

(2) ~«måhmo g‘mOmMr ñWmnZm

(3) eVnÌmVyZ ór-nwéf g‘mZVoMm nwañH$ma

(4) gË¶emoYH$ g‘mOmMr ñWmnZm

043. gmobmnyaÀ¶m gË¶mJ«hm‘Ü¶o AmKmS>rda Agbobo d {~«Q>re gaH$maZr ’$mer {Xboë¶m H«$m§VrH$maH$m§Mr Zmdo {Xbr 
AmhoV. Ë¶m‘Yrb MwH$sMo Zmd AmoiIm.

(1) ‘ëbmnm YZeoQ²>Q>r   (2) e§H$a {edXmao

(3) lrH¥$îU gmaS>m   (4) Hw$~m©Z hþg¡Z

044. {Ì‘§Vr ¶moOZm ^maVr¶ ZoË¶m§g‘moa ‘m§S>Umè¶m {~«{Q>e ‘§Í¶mÀ¶m {eîQ>‘§S>im‘Ü¶o Imbrbn¡H$s H$moUmMm g‘mdoe 
ZìhVm?

(1) n°{WH$ bm°aoÝg   (2) ñQ>°’$S>© {H«$ßg 

(3) E.ìhr.Abo³Pm§S>a   (4) bm°S>© ‘mD§$Q>~°Q>Z

045. ‘hmË‘m Jm§YrZr Ho$boë¶m gË¶mJ«hm§Mm ¶mo½¶ H«$‘ bmdm.

(A) IoS>m gË¶mJ«h   (~) AghH$ma Midi 

(H$) Xm§S>r ¶mÌm   (S) M§nmaÊ¶ gË¶mJ«h

n¶m©¶ …

(1) ~, S>, H$ Am{U A>   (2) S>, H$, A Am{U ~ 

(3) S>, A, ~ Am{U H$>   (4) A, S>, H$ Am{U ~
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046. Identify the correct option as per the chronology of events.

(A) Poona Pact   (B) Peshawar Satyagrah

(C) Second Round Table Conference (D) Cripps Plan

Options :

(1) A, B, C and D   (2) B, C, A and D 

(3) C, B, A and D   (4) C, D, A and B

047. Which one of the following is not an objective of Satyagraha technique brought by Mahatma 

Gandhi?

(1) An unjust person is made aware of truth and justice.

(2) Bring transformation in the views of a person doing unjust.

(3) Should never use violence and untruth means.

(4) To get justice through violence and untruth means.

048. After the annihilation of Afzal Khan, Shivaji Maharaj captured the Adil Shahi forts. Identify 

the wrong option of fort not captured by him;

(1) Vasant Gad   (2) Bhudar Gad 

(3) Panhala   (4) Khelna

049. Who introduced the strategy of war called ‘Safe deposit locker system’?

(1) Khanderao Dabhade  (2) Dhanaji Jadhav

(3) Nemaji Shinde   (4) Maharani Tarabai

050. Identify the name of the weekly magzine through which Gopal Hari Deshmukh advocated 

social and cultural subjects through Shatapatre?

(1) Prabhakar   (2) Nibandhmala 

(3) Janata   (4) Dnyanoday



27 of 48NMMS-SAT-22-23 VIII S5

H$ÀÀ¶m H$m‘mgmR>r ’$³V

046. Imbrb KQ>Zm H$mbmZwH«$‘o {bhm.

(A) nyUo H$ama   (~) noemdaMm gË¶mJ«h 

(H$) Xþgar Jmob‘oO n[afX  (S>) {H«$ßg ¶moOZm

n¶m©¶ …

(1) A, ~, H$ Am{U S>   (2) ~, H$, A Am{U S> 

(3) H$, ~, A Am{U S>   (4) H$, S>, A Am{U ~

047. ‘hmË‘m Jm§YrOrZm A{^àoV Agboë¶m gË¶mJ«hmMo Imbrbn¡H$s H$moUVo CpX²XîQ>ço Zmhr?

(1) gË¶mMm, Ý¶m¶mMm AmJ«h YaUo.

(2) AÝ¶m¶ H$aUmè¶m ì¶³VrMo ‘Vn[adV©Z H$aUo.

(3) A{h§goÀ¶m ‘mJm©Zo gË¶ d Ý¶m¶ ¶mMr OmUrd H$éZ XoUo.

(4) qhgm d AgË¶mMm dmnamZo Ý¶m¶ {‘i{dUo.

048. A’$ObImZmÀ¶m nm[anË¶mZ§Va {edmOr ‘hmamOm§Zr Am{XbemhrVrb H$moUVo {H$ëbo qOHy$Z KoVbo Vo Imbr {Xbo 
AmhoV. Ë¶m‘Yrb MwH$sMm n¶m©¶ {bhm.

(1) dg§VJS>   (2) ^yXaJS> 

(3) nÝhmim   (4) IoiUm

049. "go’$ {S>nm°{PQ> bm°H$a {gpñQ>‘' ho ¶wX²YV§Ì Imbrbn¡H$s H$moUr dmnabo.

(1) I§S>oamd Xm^mS>o   (2) YZmOr OmYd 

(3) Zo‘mOr qeXo   (4) ‘hmamUr Vmam~mB©

050. Jmonmi h[a Xoe‘wI ¶m§Zr H$moUË¶m gmßVm{hH$mVyZ {b{hbobr eVnÌo ¶m‘YyZ gm‘m{OH$ d gm§ñH¥${VH$ {df¶mda 
^mî¶ Ho$bo Amho?

(1) à^mH$a   (2) {Z~§Y‘mbm 

(3) OZVm    (4) kmZmoX¶
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051. Bills related to finance are considered as ‘Money Bills’. Which house has right to introduce 

and pass money bill?

(1) Loksabha   (2) Rajyasabha

(3) Vidhan Parishad   (4) Sthayee Samittee (praesidium)

052. As per the amendment, the number of ministers in the council should not be more than _____% 

of the total number of members in the Loksabha.

(1) 10    (2) 15

(3) 20    (4) 25

053. Which State or Union Territory is not covered by The Bombay High Court's jurisdiction?

(1) Maharashtra   (2) Goa

(3) Dadra Nagar Haveli  (4) Aandaman Nicobar

054. Identify the right which is not given to the Governor?

(1) The Right to assent the Bills to convert it into laws.

(2) The Right to summon the session of the state legislature.

(3) To issue an ordinance to make the law if need arises.

(4) To decide the number of members in Council of Ministers.

055. Identify the subject which deals with both : The Union Government and The State Government.

(1) Defence   (2) Currency

(3) Education   (4) Prison Administration
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051. n¡em§g§~§YrMo àñVmd Am{W©H$ ‘mZbo OmVmV d Ago gd© àñVmd àW‘ H$moUË¶m g^mJ¥hmV ‘m§S>bo OmVmV?

(1) bmoH$g^m   (2) amÁ¶g^m 

(3) {dYmZn[afX   (4) ñWm¶r g{‘Vr

052. H|${Ð¶ ‘§{Ì‘§S>imMr g§»¶m bmoH$g^oÀ¶m EHy$U gXñ¶ g§»¶oÀ¶m ________ Q>³³¶mnojm A{YH$ AgUma Zmhr 

Ago {ZpíMV H$aÊ¶mV Ambo.

(1) 10    (2) 15

(3) 20    (4) 25

053. ‘w§~B© Cƒ Ý¶m¶mb¶ Imbrbn¡H$s H$moUË¶m àXoemgmR>r Zmhr?

(1) ‘hmamîQ´>   (2) Jmodm 

(3) XmXam ZJa hdobr   (4) A§Xm‘mZ {ZH$mo~ma ~oQ>o

054. Imbrbn¡H$s H$moUVm A{YH$ma amÁ¶nmbm§Zm Zmhr?

(1) {dYo¶H$mMo H$m¶X²¶mV énm§Va H$aUo.  

(2) {dYr‘§S>imMo A{YdoeZ ~mobmdUo. 

(3) H$m¶Xm {Z{‘©VrgmR>r AÜ¶mXoe H$mT>Uo. 

(4) ‘§{Ì‘§S>imVrb gXñ¶ R>a{dUo.

055. Imbrbn¡H$s H$moUVm {df¶ g§KemgZ d amÁ¶emgZ XmoÝhtH$S>o Amho?

(1) g§ajU    (2) MbZ ì¶dñWm

(3) {ejU    (4) Vwé§J àemgZ
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056. ________ clouds are indicators of thunder storms.

(1) Alto-stratus   (2) Cumulonimbus 

(3) Nimbostratus   (4) Cirrostratus

057. Which of the following is not come under transport land use?

(1) Petrol Pump   (2) Bus Stand

(3) Bank Office   (4) Railway Station

058. Identify the correct order of a day which we experience in different stages because of the 

Earth’s rotation.

(1) Sunrise - Midday - Sunset - Midnight 

(2) Sunset - Sunrise - Midnight - Midday

(3) Midday - Midnight - Sunrise - Sunset 

(4) Midnight - Sunset - Midday - Sunrise

059. ________ is the process of converting water into steam or water vapour.

(1) Rain    (2) Clouds

(3) Condensation   (4) Evaporation

060. Identify the correct option which shows the summer season in the northern hemisphere:

(1) March to September  (2) September to March

(3) June to December  (4) December to June
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056. ________ àH$maMo T>J dmXimMo {ZXe©H$ AmhoV?

(1) AëQ>mo ñQ´>°Q>g   (2) ³¶wå¶wbmo{Zå~g 

(3) {Zå~moñQ´>°Q>g   (4) {gamoñQ´>°Q>g

057. Imbrbn¡H$s H$moUVm KQ>H$ dmhVyH$ gw{dYm§Mo joÌ Zmhr.

(1) noQ´>mob n§n   (2) ~gñQ>°ÝS>

(3) ~±H$ Am°{’$g   (4) aoëdo ñQ>oeZ

058. n¥ÏdrÀ¶m n[adbZmMo n[aUm‘ ¶mo½¶ H«$‘mZo H$go AZw^dVm ¶oVmV? ~amo~a n¶m©¶ AmoiIm.

(1) gy¶m}X¶ → ‘Ü¶mÝh → gy¶m©ñV → ‘Ü¶amÌ

(2) gy¶m©ñV → gy¶m}X¶ → ‘Ü¶amÌ → ‘Ü¶mÝh 

(3) ‘Ü¶mÝh → ‘Ü¶amÌ → gy¶m}X¶ → gy¶m©ñV

(4) ‘Ü¶amÌ → gy¶m©ñV → ‘Ü¶mÝh → gy¶m}X¶

059. nmÊ¶mMo ~mînmV énm§Va H$aUmar à{H«$¶m åhUOo ________.

(1) nmD$g    (2) T>J 

(3) gm§Ðr^dZ   (4) ~mînr^dZ

060. n¥Ïdrdarb CÎma JmobmYm©Vrb CÝhmim F$Vy H$mbI§S>-¶mo½¶ n¶m©¶ H$moUVm?

(1) ‘mM© Vo gßQ>|~a   (2) gßQ>|~a Vo ‘mM© 

(3) OyZ Vo {S>g|~a   (4) {S>g|~a Vo OyZ
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061. Identify the odd statement which is not related to importance of field visit.

(1) Geographical concepts can be understood.

(2) Helps to understand the relationship between man and environment.

(3) It gives first hand experience of geographical factors and processes.

(4) It gives experience of literacy growth.

062. Identify the correct option :

(1) Silica - Nickel → Sial  (2) Silica - Iron → Sial

(3) Silica - Aluminium → Sial (4) Silica - Magnesium → Sial

063. The Indian Standard Time (IST) has been decided according to the ________ longitude.

(1) 82 ° 30' West   (2) 82 ° 30' East 

(3) 22 ° 30' West   (4) 22 ° 30' East

064. From which ocean Labrado current is flowing?

(1) Pacific   (2) South Atlantic 

(3) Hindi    (4) North Atlantic

065. Which of the following is not related to population growth?

(1) Birth rate   (2) Death rate 

(3) Language   (4) Migration



33 of 48NMMS-SAT-22-23 VIII S5

H$ÀÀ¶m H$m‘mgmR>r ’$³V

061. joÌ^oQ> Aä¶mg ‘hËd - {dg§JV {dYmZ H$moUVo?

(1) ^m¡Jmo{bH$ g§H$ënZm OmUyZ KoVm ¶oVmV.  

(2) ‘mZd d n¶m©dU ghg§~§Y OmUyZ KoVm ¶oVmo. 

(3) ^m¡Jmo[bH$ KQ>H$ d à{H«$¶m àË¶j AZw^d KoVm ¶oVmo.

(4) ^anya gmjaVm dmT>rMm AZw^d XoVm ¶oVmo.

062. ¶mo½¶ - OmoS>r JQ> n¶m©¶ AmoiIm.

(1) {g{bH$m - {ZHo$b → {g¶mb (2) {g{bH$m - Am¶Z© →  {g¶mb

(3) {g{bH$m - A°ë¶w{‘{Z¶‘ → {g¶mb (4) {g{bH$m - ‘°½Zo{e¶‘ → {g¶mb

063. ^maVmMr à‘mUdoi H$moUË¶m aoImd¥Îmmdarb doioZygma R>a{dbr OmVo?

(1) 82°30′ npíM‘   (2) 82°30′ nyd© 

(3) 22°30′ npíM‘   (4) 22°30′ nyd©

064. b°~«moS>moa erVàdmh H$moUË¶m ‘hmgmJamV Amho?

(1) n°{g{’$H$    (2) X{jU AQ>bm§{Q>H$ 

(3) qhXr      (4) CÎma AQ>bm§{Q>H$

065. Imbrbn¡H$s H$moUVm KQ>H$ bmoH$g§»¶m dmT>mer {ZJ{S>V Zmhr.

(1) OÝ‘Xa    (2) ‘¥Ë¶wXa 

(3) ^mfm    (4) ñWbm§Va
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066. Study the graph and identify the state which has highest sex ratio?

(1) Chhatisgarh   (2) Kerala 

(3) Maharashtra   (4) Haryana

067. Continental shelf has extensive fishing grounds as this part of ocean floor is favourable for 

fishing. Identify the wrong reason which does not go with other favourable conditions :

(1) This part is shallow. 

(2) Sunlight reaches upto it’s bed.

(3) This part is very deep. 

(4) Planton grow here.

068. Identify the correct option of Grassland and it continent from given alternatives:

(1) Pampas - South America (2) Veld - North America

(3) Downs - Africa   (4) Prairies - Australia

069. There are three ways of expressing the scale on a map. Identify the odd man out.

(1) Verbal scale   (2) Numerical scale 

(3) Linear scale   (4) Picture scale
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066. AmboImMo {ZarjU H$éZ CÎma {bhm. Imbrbn¡H$s H$moUË¶m amÁ¶mV qbJ JwUmoÎma gdm©V OmñV Amho?

(1) N>ÎmrgJS>   (2) Ho$ai

(3) ‘hmamï´>   (4) h[a¶mUm

067. ^yI§S>‘§Mmda ‘moR>çm à‘mUmV ‘mgo‘marg AZwHy$bVm AgVo. A¶mo½¶ H$maU AmoiIm.

(1) ^yI§S>‘§M ^mJ CWi AgVmo.

(2) ^yI§S>‘§M ^mJmV gy¶©{H$aUo Vimn¶©ÝV nmohMVmV. 

(3) ^yI§S>‘§M ^mJ Iyn Imob AgVmo.

(4) ^yI§S>‘§M ^mJmV ßbd§H$ dZñnVr {Z{‘©Vr hmoVo.

068. Imbrbn¡H$s ~amo~a OmoS>r n¶m©¶ AmoiIm. JdVmi àXoe d I§S>

(1) n§nmg - X{jU A‘o[aH$m  (2) ìhoëS> - CÎma A‘o[aH$m

(3) S>mD$Ýg - Am{’«$H$m   (4) àoAar - Am°ñQ´>o[b¶m

069. JQ>mV Z ~gUmam KQ>H$ AmoiIm. ZH$mem‘Ü¶o à‘mU ì¶³V H$aÊ¶mMo àH$ma VrZ AmhoV.

(1) eãXà‘mU   (2) A§H$à‘mU 

(3) aofmà‘mU   (4) {MÌà‘mU
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070. Identify the option of the alphabet which indicates area of coal in given map.

Suvarnarekha River

(1) A    (2) B

(3) C    (4) D

071. In the adjoining figure, line n intersects line l and m in two distinct points. Find the ratio of the 
interior alternate angles using the given information.

(1) 8 : 11    (2) 7 : 11

(3) 11 : 7    (4) 7 : 8
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070. Imbrb ZH$mem - AmH¥$VrV H$moigm joÌ H$moUVo Aja Xe©{dVo?

gwdU©aoIm ZXr

(1) A    (2) B

(3) C    (4) D

071. gmo~VÀ¶m AmH¥$VrV aofm l Am{U aofm m ¶m§Mr aofm n hr N>o{XH$m Amho. Va AmH¥$VrV {Xboë¶m ‘m{hVrdéZ 
Am§Vaì¶wËH«$‘ H$moZm§À¶m ‘mnmMo JwUmoÎma {H$Vr?

(1) 8 : 11    (2) 7 : 11

(3) 11 : 7    (4) 7 : 8
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072. In the adjoining figure G is the centroid of ∆ABC. If AG = 7 3 , then find AP
PG .

(1) 2 : 1    (2) 3 : 1

(3) 1 : 2    (4) 1 : 3

073. In ABCD. AC = 3 2  and BD2 = 18. What type of ABCD will be?

(1) Parallelogram   (2) Rhombus

(3) Trapezium   (4) Rectangle

074. In the adjacent figure ∆ DCH ≅ ∆ DCF. Which additional information is needed to show ∆ DCH 
and ∆ DCF congruent by A-A-S test?

(1) ∠ DHC ≅ ∠ DFC  (2) ∠ HDC ≅ ∠ FDC

(3) Side CH ≅ Side CF  (4) Side DH ≅ Side DF
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072. gmo~VÀ¶m AmH¥$VrV G hm ∆ABC Mm JwéËd‘Ü¶ AgyZ Oa AG = 7 3  Agob Va PG : AP = {H$Vr?

(1) 2 : 1    (2) 3 : 1 

(3) 1 : 2    (4) 1 : 3

073. ABCD ‘Ü¶o AC = 3 2  Am{U BD2 = 18 Agob Va ABCD hm H$moUË¶m àH$maMm Mm¡H$moZ Agob?

(1) g‘m§Va^wO Mm¡H$moZ   (2) g‘^wO Mm¡H$moZ 

(3) g‘b§~ Mm¡H$moZ   (4) H$mQ>H$moZ Mm¡H$moZ

074. gmo~VÀ¶m AmH¥$VrV ∆ DCH d ∆ DCF ho XmoZ {ÌH$moU H$moH$mo~m H$gmoQ>rZwgma EH$én hmoÊ¶mgmR>r AmUIr 
H$moUVr ~m~ Amdí¶H$ Amho?

(1) ∠ DHC ≅ ∠ DFC  (2) ∠ HDC ≅ ∠ FDC

(3) ~mOy CH ≅ ~mOy CF  (4) ~mOy DH ≅ ~mOy DF
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075. Satish sold a flat for Rs. 24,50,000 to Prashant through a broker. Broker received Rs. 98,000 

brokerage as total brokerage from both. Find the rate of brokerage.

(1) 4 %    (2) 2 %

(3) 2.5 %    (4) 3.5 %

076. Which of the following is an Irrational number?

(1) 5
4     (2) 99

23  

(3) 83     (4) 5

077. Find (100.1)2

(1) 10000.01   (2) 10002.01 

(3) 10020.01   (4) 10022.01

078. F 
D
1
2a

When D = 4, F = 16. Hence if D = 1.6

Find F

(1) 100    (2) 256 

(3) 10    (4) 2.56

079. Radius of a circle is 9.1 cm. Find the distance of the chord from the centre if length of the chord 

is 16.8 cm.

(1) 6.5 cm   (2) 5.5 cm 

(3) 3.5 cm   (4) 4.5 cm
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075. EH$m Xbmbm‘m’©$V gVreZo 24,50,000 én¶o qH§$‘VrMm âb°Q> àem§Vbm {dH$bm. XbmbmZo XmoKm§H$Sy>Z {‘iyZ 

98,000 én¶o Xbmbr KoVbr Va XbmbrMm eoH$S>m Xa {H$Vr?

(1) 4 %    (2) 2 $% 

(3) 2.5 %   (4) 3.5 %

076. Imbrbn¡H$s H$moUVr g§»¶m An[a‘o¶ g§»¶m Amho?

(1) 5
4     (2) 99

23  

(3) 83     (4) 5

077. (100.1)2 = {H$Vr?

(1) 10000.01   (2) 10002.01

(3) 10020.01   (4) 10022.01

078. F 
D
1
2a

Ooìhm D = 4 Voìhm F = 16 Va D = 1.6 AgVmZm F = {H$Vr?

(1) 100    (2) 256 

(3) 10    (4) 2.56

079. EH$m dVw©imMr {ÌÁ¶m 9.1 go‘r. AgyZ Ë¶m dV©wimVrb OrdoMr bm§~r 16.8 go‘r. Amho. Va Ë¶m OrdoMo 

dVw©iH|$ÐmnmgwZ A§Va {H$Vr?

(1) 6.5 go‘r.   (2) 5.5 go‘r. 

(3) 3.5 go‘r.   (4) 4.5 go‘r.
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080. The diameter and height of a cylindrical tank is 1.75 m and 3.2 m respectively. How much is 

the capacity of the tank in litre?

(1) 770  (2) 350 (3) 6600  (4) 7700

081. If length of a diagonal of a rhombus is 30 cm and its area is 240 sq.cm. Find its perimeter.

(1) 64 cm (2) 32 cm (3) 68 cm  (4) 80 cm

082. Find 19683 26 ^ h

(1) 17  (2) 27 (3) 27.7  (4) 37

083.
Simplify : 

20
2 32

x x
x

2

2

+ -
-  × 

12
2 15

x x
x x
2

2

+ -
+ -

(1) 2    (2) 1 

(3) (x – 3)   (4) (x + 4)

084. Divide the polynomial (x3 – 4x2 + 6x – 1) by the binomial (x – 1). Write the quotient and the 

remainder.

(1) Quotient = x2 – 3x + 3 Remainder = 1

(2) Quotient = x2 + 3x – 3 Remainder = 2

(3) Quotient = x2 + 3x – 2 Remainder = 3

(4) Quotient = x2 – 3x + 3 Remainder = 2

085. The ratio of two numbers is 5 : 6. If 8 is subtracted from each number, then the ratio becomes 

4 : 5. Find the bigger number.

(1) 72  (2) 64 (3) 48  (4) 56
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080. EH$m d¥Îm{MVr AmH$mamÀ¶m Q>mH$sMm ì¶mg 1.75 ‘rQ>a d C§Mr 3.2 ‘rQ>a Agob Va Ë¶m Q>mH$sV {H$Vr {bQ>a 

nmUr ‘mdob?

(1) 770  (2) 350 (3) 6600  (4) 7700

081. g‘^wO Mm¡H$moZmÀ¶m EH$m H$UmªMr bm§~r 30 go‘r. AgyZ Ë¶mMo joÌ’$i 240 Mm¡go‘r. Amho Va Ë¶m Mm¡H$moZmMr 

n[a{‘Vr {H$Vr?

(1) 64 go‘r. (2) 32 go‘r. (3) 68 go‘r.  (4) 80 go‘r.

082. 19683 26 ^ h  = {H$Vr?

(1) 17  (2) 27 (3) 27.7  (4) 37

083.
20

2 32
x x

x
2

2

+ -
-  × 

12
2 15

x x
x x
2

2

+ -
+ -  = {H$Vr ?

(1) 2    (2) 1 

(3) (x – 3)   (4) (x + 4)

084. (x3 – 4x2 + 6x – 1) ¶m ~hþnXrg (x – 1) Zo ^mJbo AgVm ^mJmH$ma d ~mH$s {H$Vr?

(1) ^mJmH$ma = x2 – 3x + 3 ; ~mH$s = 1 

(2) ^mJmH$ma = x2 + 3x – 3 ; ~mH$s = 2

(3) ^mJmH$ma = x2 + 3x – 2 ; ~mH$s = 3

(4) ^mJmH$ma = x2 – 3x + 3 ; ~mH$s = 2

085. XmoZ g§»¶m§Mo JwUmoÎma 5 … 6 AgwZ Ë¶m àË¶oH$ g§»¶oVyZ 8 dOm Ho$bo Va Ë¶m g§»¶oMo JwUmoÎma 4 … 5 ¶oVo Va Ë¶m 

g§»¶mn¡H$s ‘moR>r g§»¶m H$moUVr?

(1) 72  (2) 64 (3) 48  (4) 56
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086. The number of mathematics projects submitted by a school in last 20 years in maths exhibition 

is as follows. Find the mean.

2, 3, 4, 1, 2, 3, 1, 5, 4, 2

3, 1, 3, 5, 4, 3, 2, 2, 3, 2

(1) 2.57  (2) 2.75 (3) 3.50  (4) 3.70

087. Find the smallest number, in which if 5 is added, it is divisible by 12, 15 and 18.

(1) 185  (2) 175 (3) 285  (4) 235

088. Observe the adjacent figure and find the area of ∆ ABC.

(1) 116 sq. units   (2) 126 sq. units 

(3) 136 sq. units   (4) 120 sq. units

089. Find the compound interest if Rs. 51,200 are invested for 3 years at the rate of 12 2
1  p.c.p.a.

(1) ` 21800 (2) ` 21700 (3) ` 21750  (4) ` 21710

090. Find the number of faces if a solid figure has 6 vertices and 10 edges.

(1) 5  (2) 7 (3) 6  (4) 8
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086. EH$m emioZo J{UV àXe©ZmV ‘mJrb 20 dfm©V gmXa Ho$boë¶m àH$ënm§Mr g§»¶m Imbrbà‘mUo Amho. Va ¶m 
gm‘J«rMm ‘Ü¶ {H$Vr ¶oB©b?

2, 3, 4, 1, 2, 3, 1, 5, 4, 2

3, 1, 3, 5, 4, 3, 2, 2, 3, 2

(1) 2.57  (2) 2.75 (3) 3.50  (4) 3.70

087. bhmZmV bhmZ Aer g§»¶m emoYm {H$ Ë¶m g§»¶o‘Ü¶o 5 {‘i{dbo Va Ë¶m g§»¶obm 12, 15, 18 ¶m g§»¶mZr 
{Z…eof ^mJ OmB©b?

(1) 185  (2) 175 (3) 285  (4) 235

088. gmo~VÀ¶m AmH¥$VrV {Xboë¶m ‘mnmdéZ ∆ ABC Mo joÌ’$i {H$Vr?

(1) 116 Mm¡. EH$H$   (2) 126 Mm¡. EH$H$ 

(3) 136 Mm¡. EH$H$   (4) 120 Mm¡. EH$H$

089. X. gm. X. eo. 12 2
1  XamZo 51200 én¶o ‘wÔbmMo 3 dfm©Mo MH«$dmT> ì¶mO {H$Vr?

(1) ` 21800 (2) ` 21700 (3) ` 21750 (4) ` 21710

090. EH$m KZmH¥$Vrbm 6 {eamoq~Xÿ d 10 H$S>m AgVrb Va Ë¶mÀ¶m n¥îR>m§Mr g§»¶m {H$Vr?

(1) 5  (2) 7 (3) 6 (4) 8
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